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INSTRUCTIONS FOR CANDIDATES

giel AIREAIR F6adIaRT

1. Before answering any question, checkup the Booklet and ensure
that it contains 24 pages and no page is missing, mutilated or
repeated. In case of any such defect replace it immediately.

2.The Invigilator shall supply you the blank OMR Answer Sheet
separately. Enter your Roll Number, Question Booklet Serial
Number and Question Booklet Series Code and darken the
corresponding circle/oval provided on the Answer Sheet at the
appropriate space carefully by black/blue ball point pen only. You
must write the name, date and center of examination and put your
full signature in -the appropriate space provided therein before
answering any guestion.

3. A machine will read the coded information furnished by you in the
OMR Answer Sheet. If the information so furnished by you are
incomplete or different from what you have given in the application
form, you shall be awarded Zero marks.

4. Answer must be given by completely blackening one of the four
circles/ovals representing the correct answer given on right side of
the Answer Sheet corresponding to the relevant question by using
Black/Blue ball point pen only. Answers not shown by properly
darkening in black/blue ball point pen, no marks shall be awarded.

5. No Rough work should be done on the OMR Answer Sheet. Space
for rough work has been provided in the Question Booklet itself.

-6. Correcting fluid, eraser, blade, books, textual material, scripts,
notes/loose paper, calculator, docupen, slide rules, log tables,
electronic: watches, smart watch, cell phone, pager, other
electrical/electronic devices etc. are not allowed jnside the
examination hall. In case the candidate is found in possession of
any of the above, he/she shall be disqualified from the examination
without any enquiry whether the same was/were used by the
candidate or not.

7. These instructions must be complied with fully, failing which your
Answer Sheet shall not be evaluated and Zero marks will be
awarded.

8.Failure to hand over the Answer Sheet to the Invigilator before
leaving the examination hall/room shall make you liable for penal
action.

9.Failure to comply with any of the above instructions shall be
considered as adopting unfair means and action as deemed proper
shall be taken.
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MATHEMATICS
SECTION-A : 80 Marks

Instructions : Each question under this section carries two marks. Please read each question
carefully and answer them by selecting the right one out of the multiple answers given below each as
A, B, Cand D. : :

¢ | The‘ LCM 6f two numbers is 48. The numbers are in the ratio of 2 : 3. Find the sum of /
the numbers ?

QG LI Q:qml 48 | 62 QG GRER 2GS 2 : 3‘ | QG4 QRER egmm 696G ?
A) 28 B) 32.
C) 40 , D) 64
2. If(a+b):(a-b)=5:3,then find (a2 + b?) : (a2 - b?)
Q& (a+b): (a—b)=5:3, 6669 (a2 +b?): (a2~ b?) 696G 2
A¥17; 15 e Y2509

C)4:1 D)16:1

3. In a school, the ratio of boys and girls is 4 : 5. When 100 girls leave the school, the
ratio becomes 6 : 7. How many boys are there in the school ?

69T RPN NS B QIRATA 2IQUIG 4 : 5 | 60606R6R 100 QARG 69T ARG |IQ
QIRAIRIZ 606Q AIRD 8 AARIFA AQUIS 6 : 7 9 | 6606Q TIRAR FURD A°SHYI 6RES ?

A) 1200 : B) 1300

C) 1400 : D) 1500

4. A sum of money placed at compound interest becomes double in 5 Years. In how
many years, it would amount to 8 times of itself at the same rate of interest ?

A3 0998 uI6a 67143 ¢JRUR 5 QE6R 2 g8l §9, 6669 6966 QT6A 69@ TR AFIR YULAAER

8 Q61 629 ?
A) 7 years B) 10 years
C) 15 years D) 20 years
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5. ‘A’sold a watch to ‘B’ at 40% gain and ‘B’ sold it to ‘C” at loss of 20% If ‘C’ bought the
watch for Rs. 432 at what price did ‘A’ purchase it ?
‘A’ 691G 9G] 909Q! 40 RINER ‘B'Q GG @Rl Ie° ‘B’ 6AF QP S099l 20 8F6a C'Q
JQOR 9T 'C’ 6QT QT 432 TFIEQ FENI, 6069 6960 TFIER ‘A’ 69T AGQ @& ?
A) Rs. 385.71 B) Rs. 216 © C) Rs. 250 D) Rs. 550

6. A, Band C entered into partnership by making investments in the ratio 3 : 5 : 7. After
a year, C invested another Rs 3,37,600 while A withdrew Rs. 45,600. The ratio of
investments then changed to 24 : 59 : 167. How much did A invest initially ?

A,B 8 C GARd &°d191Q QIQ6Q 691G QYA 3 : 5 : 7 AQAIGER I& F6Q4 @6R | 661G -
Q¥ 96Q 'C’ 69 QUQQILER 3,37,600 O 2R & G698 SRIQ ‘A’ GIQ 21°GRIAQ 45,600 G
Q1@ 6ARI | Gl U6Q FIFQ ZERIFA AQAUIC YRR 24 : 59 : 167 62RI | OV 626R gaeﬂ ‘A’
6R66 gBReas @Qeml ?

A) Rs. 45,600 - B) Rs. 96,000 ~ O)Rs. 1,41,600 D) None of these

7. The monthly salary of A, B and C is in the proportion of 2 : 3 : 5. If C’s monthly salary
is Rs. 1200 more than A’s monthly salary, B’s annual salary is ?

A, BB CQ AR @adIQ 2gaIe 2 : 3 : 5 | 96 ‘C’'Q 713 Gl ‘A’'Q 1A QQ€I0IQ 1200 6
2@ 99, 6662 ‘B'Q Q8@ @Qcl 6R66 ?

A) Rs. 14400 B) Rs. 24000 ~ O)Rs. 1200 D) Rs. 2000

8. In an election between two candidates, the candidate who gets 30% of the total votes
polled is defeated by 16000 votes. What is the total number of votes polled ?

e HAERER 92 94 gIEll 26 | 69 glgl G2l AINSYS AFAIA 6AIS Q FERS! 30 QUG AIRSER,
69 16000 6RUTER LAFAER | 696Q AL 6R6E 6RIR CAIS CIRLER ?

A) 24000 B) 28000 C) 30000 D) 40000

9. On a certain sum, the simple interest at the end of 12% years becomes —Z— of the sum.
What is the rate of interest per annum ? |
A3 6q16Qd RUGQ AR 121 @F 69T6Q GRIGRA % 99, 6669 G121 QTR QI 696S
6LQ ?
A) 4% B) 5% C) 6% D) 8%
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10. By selling a table for Rs. 350 instead of Rs. 400, loss percent increases by 5%. The cost
price of the table is ?
60IGN 699MG 400 SFIER SRS 98968 350 TRIER Q@Ql@ ﬂ@@@l 5 90 QReR | G@GQ
6OQRQ @Il CMY 6@60 7
A) Rs. 435 B) Rs. 417.50 C) Rs. 1000 D) Rs. 1050
11. ‘A’ began a business with Rs. 21000 and ‘B’ joined afterwards with Rs. 36000, if the

profits at the end of the year are divided equally, then find out after how many
months ‘B’ joined with ‘A"?

‘A’ 21000 9FI6Q 691G YA 2N G?ﬁhl \’IQ° ‘B’ 36000G‘G°I 6QR O AT 69 6QR |
QF6EITER e A QAR QAU UL FAAN 6962 ‘B’ 6969 €1IA U6Q ‘A’ AFG 696 69R
2RI ‘

A) 3 months B) 5 months C) 7 months D) None

12. The average age of 4 members of a family is 25 years. If the head of the family is
“included in this group, then the average age increases by 20% Find out the age of the
head of the family. .
6615 9RQIRQ PIRRIF AL @A 25 Q¥ | 9T IAIeE L0 AR g AN,
6669 6FINFA YRITIR AL 901 20 §F AN | 6668 AR T FAA 6969 ?

A) 45 years B) 50 years C) 55 years D) 60 years

13. The sum of money that will give Re. 1 as 51mple interest per day at the rate of 5% per
annum, is ?

606 Raa QISR S6a6! 5 210 AARER g Qo 16T 62 ?

A) Rs. 730 B) Rs. 3650 C) Rs. 7300 D) None of the above

14. What is the smallest number by which 3600 must be divided to make it a perfect
cube?
699 Y9OF A3 FIQ1 3600q UG KR 12 66ITN JIARAHI 62ARAIAS ?
A)9 B) 50 C) 300 D) 450 -

15,7 Hpeq =6 "dand'q = 89, thenpfgics ?
Aep:q=3:49Q°q:r=8:99Y, 6060 p:q:1 660 ?
A)8:6:9 B)9:8:6 C)6:8:9 D)3:32:8
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16.

17.

18.

19.

20.

e
If J33 = 5 643, then the value of \/—Z 157

QG /33 =5.643, 6069 \E{ Q MY 6R6Q ?

A)0.513 B) 0.315

£3.1.35 i ; D) None of the above

The difference between the cost price and the sellmg price of an article is Rs. 240. If
the profit is 20%, the selling price is ?

6QISN AQIEIQ RAIRIF 9Q° IRRIF Q Qley 240 G‘Q{I | 9G Q1A SO 20 QI@ %?L\'] | 6969 69%
aqlda Q@?’]@‘{ E@ee ? ‘

A) Rs. 1440 B) Rs. 1400

C) Rs. 1240 ; D) Rs. 1200

Five times of a posiﬁve integer is equal to 3 less than twice the square of that number.
Find the number ?

CEITN RIS IR S8 SITIQ TR GRS OIQ 3 @], 6961 A°FIT 6963 ?

A)3 B) 13

C) 23 i D) 33

If the rate of interest be 4% per annum for first year, 5% per annum for second year

and 6% per annum for third year, then the compound interest of Rs. 10000 for 3 years
will be ? ; '

Q9@ gael qda QIALIQ JORe! 4, 3019 egQ QRIQLIA SORQ! 5 9G° @@1&1 Qs QRIALIA SR
6 9\, 6662 10,000 91 3 ada OR98 QI 6R6C 6299 7

A) Rs. 1575.20 B) Rs. 1600
C) Rs. 1625.80 SH D) Rs. 2000

The difference of simple interest from two banks for Rs. 1000 in 2 years is Rs. 20. Find
the difference in rate of interest.

1000 6F1R 928 QIR YUARR IR 2 QF6R 20 I 6TER 6AANTFA QU TR AR 6960

699 7

A) 2% B) 1.5% C) 1% D) 2.5%
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21.

22.

23.

24,

25,

7
A car travels a certain distance from town A to B at the speed of 42 km/h and from
town B to A at a speed of 48 km/h. What is the average speed of the car ?

601G QIR QLR A OIQ A2Q B 99019 A4Iq 42 km 69669 ATGH Q6@ 9Q° A2Q B 0l 299
AQ 9QOIg 99IQ 48 km 694160 215GF @6Q | 6660 QIOQ AL JG LAILIR 693! 6966 ?

A) 45 km/h » B) 46 km/h
C)44.8 km/h D) None of the above
3 1 1 1 1 1
Find th 1 f : = s :
S B e S o
1 1 L iy 1
- - + QMY ERER ?
Bl Bl kb
A1 B)1/3 €5 D) None of the above

The marked price of a TV is Rs. 16000. After two successive discounts it is sold for Rs.
11400. If the first discount is 5%, then rate of second discount is ?

691N T.V.@ Age R 16000 91 | g §die G218 96a T.V.& 11400 6R168 35 627! | 9@
T.V.Q 9291 Q210 99031 5 99, 6660 §610 QG 2AQ 666 ?

A) 15% B) 20%

C) 30% D) 25%

Find the last two digits of 15x37x63x51x97x17

- 15x37x63x51x97x17Q 6819 Q@G & @6l ?

A)3,5 B)4,5

Q)5,5 D)8, 5

A, B and C can do a work in 20, 25 and‘30 days, respectively. They undertook to finish
the work together for Rs. 2220, then the share of A exceeds that of B by ?

A,BNg° C 691I5Y QIAIQ QRUIEET 2099, 2562 &° 305069 6518 @AINE | 6QCI6R 69T QIAQ
Q! AGTER 2220 FFIER 64 KEGIG B SRR | 666 AQ Z°ERIF BA 2GR 0IQ 6R60
pue? '

A) Rs. 120 | _ B) Rs. 180

C) Rs. 300 D) Rs. 600
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26.

27.

28.

29.

30.

A

A mixture of 40 litres of milk and water contains 10% water. How much water should
be added to it so that water will be 20% in the new mixture ?

40 AQ A1Q G &S Fg86a aAldia ARAIS 99ee! 10 | € Figdea 6866 AId fdIasn 9o

- Jg816Q AISIQ AQAFNS SRR 20 62Q ?

A)2.5L . BY3SL
C)4L D)5L

Wiala + \/E):l7and(«/_—~/5)=1,thenﬁndx/E

QG (Va + Vb)) =179.° (Ja — Jb) =1 606Q Jab Q Y 6960 629 ?

v ' B) 18

872 : D) None of the above

A sum of money is to be divided among A, B and C in the ratio 2 : 3 : 7. If the total
share of A and B together is Rs. 1500 less than C, what is A’s share in it ?

6@161Q PR A,B B C ISR 2 : 3 : 7 AQUIGER QT FQAULIQ emll 9@ ‘A’ 6 ‘B'Q Qg
2°d ‘'C'Q Ae)Qlgd 2°90IQ 1500 9'F1 @6 6LIR8IN 6606Q “A’Q 2RI 696G ?

A) Rs. 1000 B) Rs. 1500

C) Rs. 2000 : D) None of the above

The maximum length of a pencil that can be kept in a rectangular box of dimensions
of Secmx6cmx2cmis?

8§ cm x 6 cm x 2cm QR YCARIRA 9F DO T 6Q916Q 6960 YA 6IRIM
QMY ?

A) 2413 em | B) 214 em

C) 24/26 cm D) 104/2 cm

When 50% of one number is added to a second number, the second number reduces

to its four-thirds. What is the ratio between the first number and second number ?

6U6G6AR 69l AFAR FIGRR! 50 To19 AR ARG 699 99,9619 2R % 2I°aIRe| 62IRAI,

6069 GaF AYQ NS §610 QYA FIEA 2GUIG 6R6S ?
A)3:2 : B)3:4
ChZ 3 D) Data inadequate
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31. A man invests % of his capital at 7% p.a, %at 8% p.a, and the balance at 10% p.a. If

his annual income is Rs. 561, the capital is ?

P64l 6RIF GIQ AN IBR -;- 2°8 QTR 9609e! 7 QAR % 2l°8 QISR 9999l 8 2R QIR

HOIRER IQ° 2I9FE 21°0 9999l A 10 2N QUER HTIREA | UG GIFA CAURIIR 561 S
9V, 6069 PIeQ A7 98 6960 ?

A) Rs. 5400 B) Rs. 6000 C) Rs. 6600 D) Rs. 7200

32. What is the smallest positive integer which when multiplied by 392, gives a perfect
square ? :
608 9900 QIR gd awIg 392 9Ial gaen Giel 9@ g4 adieq JREe 624 ?

A)5 B) 4 o) TG

33. Rama purchased a mobile at %th of its selling price and sold it at 10% more than its

cost price. Find the gain percent ? :
QA 6QIT 6L1IRIARNG PR G % 69R AIN Y9° B4l IR 16R3I 10 21R6Q G @R |

666Q OI'Q FCRL ENEL MR 6L ? _
A% \ - B) 5%
C) 9% D) 10%
- 34. A and B started a joint business. A’s investment was thrice the investment of B and

the period of his investment was twice the period of investment of B. If B got Rs. 6000
as profit, then what will be the 20% of total profit ?

AB B NQIAIGER 661G QYQQl0l 2I0R K6 | ‘A’ 6066 O] HGIR eMl GI9l ‘B’ oFIq 3 948 gl

NQ° 6966 AFY IR JSIRM IRl ‘B'Q SRSl A9 AIFIQ 9Rge ARl | 9@ ‘B’ 6F
RAIAQ 6000 G&l AR VRN, 666Q ATQIY RIVQ SRS 20 6REE 62Q ?

A) Rs. 5000 B) Rs. 8400
C) Rs. 3500 D) Rs. 4500

35. How many numbers between 200 and 600 are divisible by 4, 5 and 6 ?
200 98" 600 12168 6REBIT AEHI 4, 5 IE° 6 TN TN 26T ?
A)5 B) 6 S D)8
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36.

37,

38.

39.

40.

Three bells chime at intervals of 48, 60 and 90 minutes respectively. If all the three
bells chime together at 10.00am at what time will all the three chime again that day ?

06RIG Qel Y2IREE 48, 60 NMQ° 90 FRG LBAEA QUEH, G AQ AU GO IS ACAER ARIP
10.00 am 6Q QIGE, 656@ YRR 699 AFNEA 69T G6RIT AL IR AAUER QIFER ?

A) 1.00 pm B) 2.00 pm C) 8.00 pm D) 10.00 pm

The length of a rectangle is increased by 60%, by what percentage would the width
has to be decreased to maintain the same area ?

695N 2INPEALR GQPGHGi JoRE! 60 QLI VILIA YL JONE 6R6C QellREM, 2AGEIFTR
6T AR QER ? ]

A) 37 1% ' CB)60%

C) 662 % ' D) None of the above

The price of wheat is decreased by 25% and its consumption increases by 25%. Find-
the new ratio of the expenditure with that of the initial expenditure.

- LA (Y IR 25 RGN LI QIRLIQ F0RG! 25 QRAN | 606Q qe P 6 gass

SN ala) QU 6R6R 699 ?

A)3:4 B)5:4

Ed6e25 ~ : D)15:16

The average of 50 numbers is 38. If the two numbers 45 and 55 are not considered,
what will be the average of the remaining numbers ?

50 QHIQ QQULIR 38 | AG 61T Q°%1‘H A& Q45 @ 55@1_ QIQ QeUILN, 696Q 2QTY QIR
AALIR 6962 629 ?

A) 36.5 ; B) 37

CP87:5 L3792

A book seller gets 10% profit after giving 10% discount on the marked price of a book.
If the marked price is Rs. 77, then find out the cost price of the book ?

@661 9T 6QINIF 6B ITA MYG MY AUEA 10% QTIG 6@Q1 U6A 711 10% MR @QF | 9T 9F
RUCQ QIF| 77 O 6RTIKIRAN SIZ6L6M FTCR 92 TRNY 6R6S ?

A) Rs. 70 B) Rs. 77

C) Rs. 63 D) Rs. 60
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MATHEMATICS
SECTION-B : 20 Marks

Instructions : Each question under this section carries one mark. Please read each question carefuily

and answer them by selecting the right one out of the multiple answers given below each as A, B, C
and D.

41.

42.

43.

44.

45.

46.

—~

LCM of three numbers is 720 and their HCF is 3. If the first number and the second
number are 15 and 36 respectively, then what is the third number ?

P6915 2°HIQ R.QALG. 720 6 9.Q1.9. 3 | 9& eI 6 Gl QML 15 8 36 2T, 6669 §L1%
QAT 662 ?

A) 42 B) 45 C) 48 D) 54
IfA:B=3:4,B:C=5:6and C:D=11:9, then what is the value of A : D ?

Q@ A:B=3:4,B:C=5:649°C:D=11:999,606Q A :D6x6G?

A) 50 : 60 B) 55 : 72 C) 60: 70 ~ D) 65:75

The ratio of two numbers is 5 : 6. If their HCF is 4, then what will be their LCM ?

gaG AR LQUIS 5 : 6 | AT 6ATAFR 6.21.G. 4 §4, 6969 6AAITA N.ALEG. 6RES ?

A)90 B) 96 C) 120 D) 150

fpi-g=p-9 {p z qQ)?- qu}, then the value of x is ?
QB p3- gt = (p - q) {(p - 92— xpq) 29, 6969 x @ R4 6T6S ?
A1 B) 3 Cy<3 D) -1

Find the value of v152 +11x32 ?
V152 +11x 32 Q ¢4 6969 ?

A) 18.25 B) 19 C) 18 D) 19.5

A person bought two T.V.s. He sold one T.V. for Rs. 3450 and got 15% profit. He sold
the other T.V. -at a loss of 10%. If he has no profit or loss all total then what is the
selling price of the second T.V ?

@68 6RIR RG T.V. @8, 69159 3450 &l 6Q 0% @0 15% AR KM G ARGY 10% VTR &§
@M | AQ 6916 QUER PIFA @R M @Y FE 62IA @ &N, 666 §o1 T.V. Q IRINY 6@66 7

A) Rs. 3450 B) R-s. 4000  C) Rs. 4500 D) None of these
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47.

48.

49.

90,

51.

52.

53.

L=

Ramesh got 65% marks in English, out of 70 he got 47 marks in Mathematics and out
of 45 he got 31 in Science. In which subject he had done well ?

QEAE R°QUIRIEQ 65% QYQ, TEEQ 70Q 4799Q B FRIAER 45Q 31 AR QIR 6Q VYR
RIQ 60Q FTACA AR AR ? -
A) English B) Science C) Mathematics D) None of these

If 15% of A is equal to 20% of B, then 25% of A is equal to what percent of B.

A8 AQ 90RC lS,BQ IRl 20 4L QAR 99, 606Q AQ d0@@! 25,BQ 0% 6060 ‘QQ 2021
699 ?

A) 30% ’ B) 33_;-% | C) 35% L D) 25%

If simple interest at the rate of 4% per annum for 2 years on a sum is Rs. 80, then
compound interest on the same sum for the same period at the same rate will be ?

AQ 6Q16d RUGD G090 4 AURER 2 QTR AARYY 809G, 656@ 62T MUAR 69T AAG, FIIER
69@ QM TIQEQ YT Y 6960 629 ?

A) Rs. 1081.60 B) Rs. 81.60 C) Rs. 160 D) None of the above

Find the sum of first 50 odd numbers.
galel 50G Elgﬁl A°SHIQ CUIFNITR ERES ?

A) 6250 B) 2500 C) 2520 D) 2450

The sum of the square of two numbers is 100 and the square of their difference is 28.
The product of the two numbers is ?

Q08 YR 6 AAF 100 9G° 6AFIITA TR 2I2Q 28 | 63T IRG IR FEITR 6R6R ?
A) 42 B) 44 C) 46 U Tl

The sum of all the perfect squares between 120 and 230 is ?

120 @ 230 A116Q g9 AFIY YITQ AN 6860 ? _

A) 855 B) 900 C) 850 D) None of these

The sum of two numbers is 384 and their HCF is 48. Find out the difference between
two numbers ? :

Q@@ LR 6LIGITR 384 9Q° Q°SIFAQ 61.41.G. 48 | 6669 Ql°%ﬂl@§1 71I6Q 2 6XER ?

A) 100 B) 192 C) 288 D) 336
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. What is the .

94. A sum of Rs. 782 is distributed among i Q and R in the ratio of —i—

plw

o
2
amount that R will get ?

12

782 9wIq P, Q B R c1u6Q 53 QU6 Q& QAR 6G6S R 6060 G‘G?IC!I@Q 'y

A) Rs.153 ‘ B) Rs.306" C) Rs.453 D) Rs.306

95. If 2x = 3y and 4y = 5z, then what is the value of x : z ?
QG 2x = 3y NQ° 4y = 5z 94, 696Q X : z = 6@6Q ?
A)3:4 B)8:15 L1108 D)4:3
56. Two successive discount of 20% and 10% are equivalent to a single discount of ?

601G\ GFY AUCA QAT §AIGIS QLG 20% B 10% UAEE 2I6Q GLIE 696R G2 JPNE! 696
QLI AL AAIQ 621 ?

A) 26% B) 28% ' C) 29% D) 30%
57. The average age of three boys is 15 years. If the ratio of their age is 3: 5 : 7. What is the
age of the oldest boy ?

G09¢ QReEa 2R QA 15 @Y | 9@ 6T QAR AGAIG 3 : 5 : 7, 6669 AOIQ GO%
QPPN QAL ERES ?
A)Fyears. B) 14 years C) 20 years D) 21 years

58. What will be the total Compound Interest for 9 months on Rs. 8000 at the rate of 20%,
if the interest is compounded quarterly ?

8,000 SFI6Q 20% 99T QULAAEA 9 FIAR 671IS FFFE Y 6966 629, AT 3 ANAG 2A6H Y

QAIQ @A ?
A) Rs.1,250 ' B) Rs.1,258 a i Rs1061 D) Rs.1,270

59. If % of % of g of a number is 45, then 30% of the number will be ?

696 IR g a —1% a % Q A6 45 949, 6669 698 LR I9FS! 30 6960 629 ?
Bole B) 162 C) 612 D) 621

60. In a division, divisor is 12 times of the quotient and 5 tlmes of the remainder. If the
remainder is 48, find the dividend.

601G QUIFUER VIFR AUITRQ 12 %161 B QISR 5 G&I1L9Q QUGEHS 48 94 6069 QURY
6960 ?
A) 4848 B) 676 C) 250 D) 5800
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Part-11
BASIC COMPUTER SKILL
SECTION-A : 80 Marks

Instructions : Each question under this section carries two marks. Please read each question
carefully and answer them by selecting the right one out of the multiple answers given below each as
A B .CandD. :

61.

62.

63.

64.

65.

66.

Which of the following is an absolute cell reference in MS-Excel ?

A) 1A B) $A$1 C) #a#l D) Al

In MS-PowerPoint, presentation designs regulate the formatting and layoﬁt for the
slide and are commonly called : ‘

A) design plates : B) templates
C) placeholders D) blueprihts

Which of the following should you use if you want all the slides in the presentation to
have the same "look" in MS-PowerPoint ?

A) the slide layout option
B) the add a slide option
C) outline view

D) a presentation design template

Which of the following is correct in MS-Excel ?

A) = power (2/\3) B) = power (2*3)

C) = power (2,3) D) None of these

How to go to Page number 345 in a MS-WORD document containing 465 pages ?
A) Press Ctrl + F, then enter 345 and press enter

B) Press Ctrl + R, then enter 345 and press enter

C) Press Alt + G, then enter 345 and press enter

D) Press Ctrl + G, then enter 345 and press enter

What is the maximum number of columns in a table in MS-word ?
A) 43 B) 53 £)63 D) 73
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- 67.

8.

69.

70.

71

2.

73.
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In MS-PowerPoint, the Header & Footer button can be found on the insert tab in what
group ? :

A) lllustrations group B) Object group
C) Text group , D) Tables group

In MS-Excel, to drag a selected range of data to another worksheet in the same
workbook, use the :

A) Ctrl key B) Shift key C) Alt key D) Tab key
A is approximately one billion bytes. :

A) Megabyte - B) Gigabyte

C) Terabyte ' ' D) None of these

What does the VLOOKUP function do in MS-Excel ?
A) Looks up text that éontain 5 ;
B) Checks whether text is the same in one cell as in the next
C) Finds value in an array '

D) All of the above

A feature in MS-Excel that displays bllly the data in column (s) according to specified
criteria : : : '

A) Formula B) Sorting ‘ C) Filtering D) Pivot

In MS Word, which of the following do you use to change margins ?

A) formatting toolbar

B) page setup dialog box

C) standard toolbar

D) paragraph dialog box

In MS-PowerPoint how can you create a uniform appearance by adding a
background image to all slides ? P

A) Edit page layout B) Edit the slide master
C) Use the autocorrect wizard D) All of the above
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74.

75.

76.

77.

78.

£9.

A

In MS-Excel the cell reference for a range of cells that starts in cell C1 and goes over
to column H and down to row 10 is :

AP CEIOH B) C1:H10
ECIEg L D) CLH:10
By default, your documents pi‘int in mode in MS Word.
A) Landscape B) Portrait
C) Page Setup D) Print View

What is the function of Ctrl+B in MS word ?

A) It converts selected text into the next larger size of the same font
B) It adds a line break to the document

C) It makes the selected text bold

D) It applies italic to text

In MS-Excel you can create hyperlinks from the Excel workbook to :
A) A webpage on company internet

B) A web page on the internet

C) Other Office application documents

~ D) All of the above

In MS-Excel what does SUMIF function do ?

A) Adds up cell values based on a condition

B) Adds all the numbers in a range of cells

C) Returns a subtotal in a list or database

D) Both (A) & (B)

In order to enter multiple rows in a cell in MS-Excel, which key(s) should be pressed
after each line : :

A) Enter B) Ctrl + Enter

C) Alt + Enter | ; D) None of these
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80.

81.

82.

83.

84.

85.

86.

Match the f()liowillg ;

a) File extension for Power point file i) .doc

b) File extension for Word file ii) .xIsx

c) File extension for Excel file iii) .pptx
d) File extension for Text file iv) .txt

A) a-iii, b-i, c-ii, d-iv ~ B) a-i, b-ii, c-iii, d-iv

C) a-ii, b-i, c-iii, d-iv D) a-iv, b-ii, c-i, d-iii

The word FTP stands for : :

A) File Transit Protocol B) File Translate Protocol
C) File Transfer Protocol ’ : D) File Typing Protocol

In MS-Excel the drag and drop method of coijing or moving :
A) Can be used between a worksheet but not- workbooks

B) Can be used between both workbooks and worksheets

C) Can be used between workbooks but not worksheets

D) None of these

17

In MS-PowerPoint, if you want to insert some slides from other presentation'in_to

current one choose :
A) From Insert menu choose Slides from Files

B) From Insert menu choose Slides from Presentation

C) From Insert menu choose Slides

D) None of the above

A function inside another function is called a function.

A) Nested B) Round C). Sum D) Text

For addition of a row at the end of a table in MS Word, move the cursor at the end
and use :

A) Alt B) Tab CrCiel D) Shift

Which one is not a Function in MS-Excel ?
A) SUM B) AVG C) MAX D) MIN

P-II-MABCS-JCJA-18
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- 87.

88.

89.

180,

91.

92.

93.

94.

95:

Which of these is a shortcut to add a border to the selected cell in MS Excel f? B
A)Ctrl+ T B) Ctrl + B C) Shift + B D) Ctrl + Shift + &

~ Which key should be pressed to start a new paragraph in MS-Word ?

A) Down Cursor Key  B) Enter Key  C) Shift + Enter D) Ctrl + Enter

Which input device cannot be used to work in MS Office ? '
A) Scanner B) Light Pen C) Mouse D) Joy Stick

Which Key is used to rename a file in Windows Operating Systerh ?
A) F1 B) F5 C)F2 - D) None of these

In MS-Excel how can you remove borders applied in cells ?

A) Choose None on Border tab of Format cells ‘

B) Open the list on Border tool in Formatting toolbar then choose first tool (no border)
C) Both of the above

D) None of the above

In MS-Excel which function displays row data in a column or column data in a row ?

A) Hyperlink B) Index C) Rows . D) Transpose

The maximum Zoom percentage in MS-PowerPoint is :
A)200% B) 300% C) 400% D) 500%
In MS-PowerPoint when you were giving your presentation, and you need to click a

slide that's few slides back. Best way to achieve this is :

A) Press ESC to get back into a normal view: click the slide thumbnail in normal view;
then click the resume slide show button :

B) Press backspace until your desired slide
C) Right click -->Goto Slide --> Select Slide
D) All of the above

Firewall is used in PC for :
A) Authentication : B) Security ‘
C) All of the above D) None of these
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96. In MS-Excel you want to paste a formula result - but not the underlying formula - to

another cell. The procedure is to first copy the cell with the formula, then place the
insertion point in the cell where you want to copy to. Then next step is to :

A) Click the Paste button on the standard toolbar

B) Click the arrow on the paste button on the standard toolbar, then click formulas

C) Click the arrow on the paste button on the standard toolbar, then click values y

D) Both (A) & (C) ’

97, You have got a bunch of digital holiday photos you want to put into a slide show.

What is the quickest method in MS-PowerPoint ?

A) Apply a multiple-picture layout to several slides, and use the clipart icon on the.
slides to import your picture

B) On the insert menu, point to the picture, click from file, and select your picture in a
group for each slide

C) On the insert menu, point the picture and click new photo album
D) All of the above

98. What will happen if you select 4 rows from row heading in MS- I-:xcel and then right
click and select insert ?
A) inserts a new row before the first selected row
‘B) inserts 4 new rows before the first selected row
C) inserts 8 new rows before the first selected row
D) None of the above

99. How do you insert a row in MS-Excel ?-
A) Right-click the row heading where you want to insert the new row and select
Insert from the shortcut menu

- B) Select the row heading where you want to insert the new row and select Edit >Row
from the menu

C) Select the row heading where you want to insert the new row and click the Insert
Row button on the standard toolbar

D) All of the above

100. In MS Excel, how do you change column width to fit the contents ?
A) Single-click the boundary to the left to the column heading
B) Double click the boundary to the right of the column heading
C) Press Alt and single click anywhere in the column
D) All of the above

P-II-MABCS-JCJA-18 , : PiT4e



20 : A

BASIC COMPUTER SKILL
SECTION-B : 20 Marks

Instructions : Each question under this section carries one mark. Please read each question carefully
and answer them by selecting the right one out of the multiple answers given below eachas A, B, C
and D.
101. Which is the function button for spelling and grammar in MS Word ?
A) F3 B) F5 GjE7 D) F9
102. In MS-PowerPoint, which of the following should be used when you want to add a
slide to an existing presentation ? ’
A) Edit, Add a New Slide B) Insert, New Slide |
C) File, Open ‘ D) File, New

103. In MS-PowerPoint the entry effect as one slide replaces another in a show is called :
A) Animation ; B) Slide transition

C) Custom animation : D) Preset animation

104. Which command brings you to the first slide in your presentation in MS-PowerPoint ? -
A) New slide button : B) Page up
C) Ctrl + home : D) Ctrl + end

105. What will be the shortcut key in MS Windows to perform cut operation ?
A) Ctrl+C " B) Ctrl+Z '
C) Ctrl+P D) Ctrl+X

106. Which of the following is the largest unit of storage ?
A) GB ‘ B) KB C) MB D) TB

107. In MS-Excel a circular reference is :
~ A) Geometric modelling tool
B) A cell that points to a drawing object
C) A formula that either directly or indirectly depends on itself

D) Always erroneous
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109.

110.

2 b 8

112,

113.

21

The shortcut command of ‘save’ in MS Word :
A)Ctrl + A DS B) ALT + F+S

C) Cirl + S D) Both (B) and (C)

Ctrl +Y is the short cut key for MS :
A) Undo the last action

B) Paste the selected text

C) Cut the selected text

D) Redo the last action

Which is the short cut of ‘replace” in MS Word ?
A) Ctrl + R o : B) Ctrl + F
C)Ctrl + H D) Ctrl +Y

In MS-PowerPoint which of the following can you use to add time to the slides in a
presentation ? :

A) Slide Show menu B) Rehearse timing button
C) Slide transition button D) All of the above

What type of chart is useful for showing trends or changes over time in MS-Excel ?
A) Pie Chart B) Column Chart
C) Line Chart D) Dot Graph

' Tn MS-PowerPoint in order to see all the slides on one screen use :

A) View, slide sorter
B) View, slide
C) View, master

D) View, slide show
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114.

115.

116.

117.

118.

119.

120.

The feature of MS Excel quickly completes a series of data.
A) Auto Complete : ; B) Auto Fill
C) Fill Handle D) Sorting

What is the shortcut to insert comment in MS Excel ?
A) Ctrl + F6 B) Alt + F8
C) Shift + F9 D) Shift + F2

If a new device is attached to a computer, such as printer or scanner, its

- be installed before the device can be used.

A) buffer B) driver C) pager D) server

In MS-Word, how to change the author name for review comments ?

A) File>Open>Change Author

B) Right Click > Click on Author > Change Name

C) Tracking > Track Changes Option >Change User name
D) None of these

‘How to Add a new word into Dictionary.of MS Word ?

A) In Spelling & Grammar > New word > enter the word> save

- B) Insert>select word >Add to Dictionary

C) In Spelling & Grammar > find the new word >Add

D) Word provides no such option to add more words to its Dictionary

What is the use of Track Changes in MS Word ?

A) To lock the document if changes are done :

B) To record changes done to the document by multiple editors
C) To change the word document to excel format

D) All of the above

In MS-Excel, value used in a formula that does not change is called a :
A) Cell address B) Constant ’
C) Function D) None of these
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